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Set Id : 62325_19 BATCH2 D.ELED Odia 09NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

It sometimes happens that a woman is handsomer at twenty-nine than she was ten years before;
and, generally speaking, if there has been neither ill health nor anxiety, it is a time of life at which
scarcely any charm is lost. It was so with Elizabeth, still the same handsome Miss Elliot that she
had begun to be thirteen years ago, and Sir Walter might be excused, therefore, in forgetting her
age, or, at least, be deemed only half a fool, for thinking himself and Elizabeth as blooming as
ever, amidst the wreck of the good looks of everybody else; for he could plainly see how old all the
rest of his family and acquaintance were growing. Anne haggard, Mary coarse, every face in the
neighbourhood worsting, and the rapid increase of the crow's foot about Lady Russell's temples
had long been a distress to him.

1) Which word from the passage relates to the word beautiful or pretty?

A) Scarcely
B) Handsome
C) Rapid

D) Haggard

2) Who among the following options was Miss Elliot?

A) Lady Russell
B) Mary

C) Anne

D) Elizabeth

3) Who noticed Miss Elliot's beauty?

A) Anne

B) Mary

C) Sir Walter
D) Lady Russell
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4) When did Miss Elliot begin to be beautiful?

A) Fifteen years ago
B) Thirteen years ago
C) In the present

D) Ten years ago

5) At what age does one have neither ill-health nor anxiety?

A) Ten years

B) Twenty nine years
C) Fifty nine years

D) Nineteen years

6) Which of the following is a correct sentence with respect to use of words: desert or dessert

A) A desert makes a good meal complete.
B) To dessert your ship is a crime.

C) Life in a desert is harsh.

D) Camels can be very useful in a dessert.

7) The phrase "flare up" means

A) to be strong and stout

B) to affirm your connection with somebody
C) to repair the damage
D) to suddenly burn more strongly

8) Fill in the blank with correct prefix or suffix:

Free of speech is a very important part of democracy.

A) dom
B) ness
C) ship
D) some
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9) Which of the following words is correctly spelt?

A) privelage
B) privelege
C) privilege

D) privillage

10) Which of the following alternatives explains the phrasal verb "flounder around"?

A) to acknowledge to move or get somewhere because it is easy
B) to struggle to move or get somewhere because it is difficult
C) to search for the truth in every direction

D) to search for something which has never been found



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Join Us-

Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following living organisms will have the maximum concentration of pesticides in a
food chain?

A) Plants
B) Fox
C) Lion
D) Goat

11) eley g8rpsa DEINYQ eleagaies FRIQ cadT6Q edide aleraaa AIGS! &N ?

A) 989

B) sai@diia
C) &e

D) 6a®

12) Who was the president of Interim government which was formed in 19467

A) Clement Attlee

B) Jawaharlal Nehru

C) Muhammad Ali Jinnah
D) Lord Wavell

12) ¢y adelea 906 FRINET ARRIRR ANAE G4 R ?

A) 635CP6 TSR

B) SQI210RIA 62629
C) 9127 2@ &4l

D) 7€ 6gsan

13) One of the regional colleges of education established by National Institute of Education (Delhi),
is located in -

A) Ajmer
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B) Assam
C) Sambalpur
D) Chennai

13) siela da1 gdaie (Gq1) QoI 9686 2reda 8l A2IFAIRAYER F1RIQ 69IEN Y0IER 29ge -

A) gigsaa
B) &I
C) Qaage
D) se91®

14) According to the MHRD Annual Report (2006-2007), women enrolment to universities was the
highest in

A) Delhi/NCR
B) Karnataka
C) Maharashtra
D) Kerala

14) 914Q IR & @ 9@ G6a1¢ (9009-9009) agaiat, MORIQ §giaraca ABRIN° AIEAS ASINS 2Rl

A) Gqu/4QEaIQ
B) @dlie®

C) agiua

D) 6a6@

15) The curriculum for elementary and secondary education will ensure that there will be no hard
separation of

A) vocational and academic streams
B) curricular and curricular goals

C) syllabus and curricular goals

D) curricular goals and assessments

15) QIQAR 9e* arife 481 Al 9I04ga IRA6 Q60 60 2SR 12Ia 8@ JAREl 689 AIF

A) UQIRS G Fi8l 6910
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) P, Q, R, S and T are five kids sitting in a circular table. R is sitting to the immediate left of T and
P is sitting between S and T. T is sitting between

A)R &Q
B)R&S
C)P &R
D)P&S

16) P, Q, R, S ver T dI°Q @4 dal 9@ QRINIQ 659 ¢3e8 IR, T a ga8 o0 aigea o328 wer P, S ver T OB6Q aa
| T N2 Q@ 9419° a26a @G5

A)R @ Q
B)R4g* S
C)P9e°R
D)Pwe° S

17) In a certain code language, if the word ROSE is coded as URVH, then how will the word URVH
be coded in that language?

A) ESOR
B) ROSE
C) XUYK
D) UHVR

17) 9= G4 sl aigise, 9@ ROSE g8 URVH aiesa sqie 62108, 6669 URVH 68 q cad aigisa @ad sqie @0l Q7

A) ESOR
B) ROSE
C) XUYK
D) UHVR

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

A company decided to increase the cost of its keyboards by 10%. What was the price of the
keyboard?

|. The cost of keyboard and mouse together was ¥1840.

II. 10% increase in the price of the keyboard results in an increase of ¥520.

A) 1
B) 2
C)3
D)4

18) QCNYR ggqface 536 aag :
0. 98 QQQ4l | 2naia QEQ 6@9lg gs2a 266 |

9. 9@ Q4! Il ugdal anaya QAN ca9Ig A 26T |
0. 95 @A | ver || aeag 90 F2189 606e ANAIR AR 699 Tls UG 26 |

¥. 95 @994 | ve* Il a99ag 19I6 F2159 6069 @ AR ARA 6991 TIet AU 68 |

9 AR 92IQ FERITR JRY € 0% QF FAeIg A9 6ANR | VTR AY 6966 ARl ?
| e6a1@ ver aieq 998 gmy T eryo dqll

Il. @1691¢ auea eox @& @8 T 890 Qdaa|

A) ¢
B) ¢
c)ya
D)®
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19) Sankarlal walks 7 km towards north and then takes a left turn and walks 5 km. Then he again

takes a left turn and walks 15 km. Then he again takes a left turn and walks 5 km. What is the
distance between the initial and the final point?

A) 8 km
B) 12 km
C) 15 km
D) 22 km

19) axanin QA 2ieq © AR SIRER IS FIT6R QIF 6CIe 69R 8 FEAIFCR SRR | QIR 6a Q8 IR QUM 6710 AR ° 8
@ERIFCR SIRsM | SIT8Q 64 g8l QIF 6712 605 8 FEAIFCR SIReR | JIORe IS 280 8g FIER YRG! 6REE ?

A) r &a.

B) e9 @4.
C) eg af.
D) 99 &4.

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

A student purchased 9 notebooks and 3 pens for ¥ 200. Another student has ¥ 400 with him. Can
he purchase 12 notebooks and 12 pens?

I. The cost of 7 notebooks and 5 pens is ¥ 200.
Il. The cost of 18 notebooks and 6 pens is ¥ 400.

A) 1
B) 2
cya
D) 4

20) FOIRYO 9996esa 686 g :
¢. 9@ QAR | arauia QAR seeig asea 6T |
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9. a6 @R Il vgdal anaia QA se9ig asae 2I6S |

n. 96 S | ver 1l aeag 9eI0 FIGe 6666 AR RRA el Tliet aduIg 26T |

¥. 96 98 | ve |l aa9g 190 S2IFe 6669 @ AR AR 699 A1 ATYIG 68 |

268 818 T 900 6@ ¢ § 6719QR ¥ N & ann @EIT | 294 IR 91g asea T voo 25 | W8l 6@ €9 § 6RIGQR ¥ 29 § ARF &
AR ?

l. 9 G 6q169a 4% 8 & anra ga4 T 900 |

Il. er & 621697 9&* 2 § *aaa gay T woo |

A) ¢

B) ¢

c):
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following stands true as goal of existentialism?

A) Education must lead to value building
B) Education must lead to appreciating nature as supreme

C) Education must create opportunity for free, ethical choices
D) Education must celebrate the ideas of mind

21) 28990a 2SI QUNEQ FYAYS FIQ 696 Qe 997

A) d8l gL ISR SRQI ZIQENQ
B) 94l 9q6a AQIP 6AM FEral KA UGS

C) A9l 6369 aaR diel 9 546 aIeea g6l 98 @Gl Aaie

D) da 446 sie6a fina Sariag aRe @O ZI9aie

22) Teaching conducted in a way the students get an opportunity to explore the natural surroundings
around school and discuss with parents. Which of the following statements is true in this reference?

Learning in this case happens in
A) class only
B) surroundings only

C) class, surroundings and home
D) home only

22) daeie 498 c21eaN 6998 da1ditier IR0 9Q8aIgeR A9l 9Igee afseeq AgaRle @89l 1 JolRIeiales A8 2RISR

R6QIa g6QIT ARG | 9T AREEa SRS F21Q AT Al 266 ? 1B cFesa al 6Q 62IRaIN |

A) CaIm 658l

B) ERR ABERS

C) 6941, Josad I9° U
D) saew ua

23) Providing religious education in government institutions is
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A) compulsory

B) constitutional
C) secular

D) unconstitutional

23) ARQIQ1 AGRIRER 26 BT 6291 6208

A) QRIBIERR
B) arquice
C) 6106080
D) 2larquae

24) What was the major outcome of the New Education Policy introduced by the Rajiv Gandhi
Government in 19867

A) Universalization of elementary education

B) Large-scale participation of the private sector in education
C) Establishment of new universities
D) Mid-day meal scheme

24) 2 ¢ 9 60 QRIS I AARIOS Qlal gFe Qo 38l @16Q el TRITR @6 ARl ?

A) Q18R daa wwieed

B) 8% 68660 6920RIA1 699Q 920 FaF2S
C) qee §gfauragGea gl

D) RIQ 6QI9R AR

25) There are various factors that cause individual differences among children. Which of the following
is NOT a factor causing individual differences?

A) Colour

B) Heredity

C) Environment

D) Education
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25) Gaicies fea 1PdeRRR aidey g8a 587 fI0e 028 | FoRde AQ 6a6d eISeRRR adel 98 @Qael FIee 265 7

A) e
B) &4
C) adsas
D) 9l

26) Which of the following indicate the full forms of IQ, EQ and SQ respectively?

A) Intelligence Quotient, Emergency Quotient, Social Quotient

B) Imagination Quotient, Emotional Quotient, Social Quotient

C) lterative Quotient, Evocative Quotient, Self reliance Quotient
D) Intelligence Quotient, Emotional Quotient and Spiritual Quotient

26) Aqfee IQ 6RAT QRIRSA ARG, BFY I° 1A @ A QU Fer ?

A) SECRERY YETE,IAREHT FETE, 6ATUR QETT
B) @AIFERAR QEXE, REAIARIA YEXE, 6ATUIR Q5T
C) 9605 QEe, QsaI6ada 6T, 634 6aRUIQ Qere
D) GreSRes" s QETre, AEAIARIA YOS 8 ARG AT

27) The teacher is teaching some facts and wants the students to memorise those facts. Which of
the following techniques may be used by the teacher to ensure maximum memorisation among the

students?
A) Lectures and discussion

B) Drill, practice, repetition and reward
C) Cooperation and collaboration
D) Videos and graphics

27) d9e 38 oo 91 69283 e Q98 64 IRAIER 6AF 0aNgEq 9Ol A9e RILAIRS FUEA ALlNR gedq gFde /del ala due
6R6 HYRYE 6TIRG IR PTG ?

A) 2RISR & 2GR
B) &a, 2y, JEQUQR e gaaia

C) aesaia (6R16ACRQER) v a26ais (6RNVEQER)
D) 8@6 e giae
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28) Select the classroom which shows us how Translation Method differs from Multilingual Pedagogy

A) Teacher X writes the words on the board and then writes the meanings in Hindi, Teacher Y
asks their language equivalents for things then gives the English word.

B) Teacher X reads a story and tells the summary in Hindi, Teacher Y reads a story sentence by
sentence first in English then in Hindi. In the end he summaries in both languages.

C) Teacher X gives instructions in Hindi and the task is done in English. Teacher Y gives

instructions in English and the task is done in any language that the children are comfortable
with.

D) Teacher X writes everything in English but explains in Hindi. Teacher Y asks children to do
group work in Hindi because she is too tired.

28) 63? 99 9% @ag QI2 AP U986 92aIF! §a14IY 0l Fad Gig Glol i

A) e X 691960 99 6A¢E e 9'a6q 2 90160 6R%E, 9 Y safiew QT dia AR §99 OGeE GIU6R ralR 98 G213 |

B) dee X 1@ @ei1 0ed ver 2oi6a GIZIQ aiard g23, 8 Y gasn ol J6GYR QIR Q eraisica IQE IS° ciasa
22160 063 | 66864 64 a0d AITIER AILIGNG derde @QS |

C) &se X doica Seda G218 ver QG eraisica @8 1 dee Y eraisica Seda G218 v danies ais aoe 62RIF aIsisa
AT K93 |

D) 4dae X craieca A968 cned @2 89160 vddl @02 | dae Y daiaieg 80161 66191 QIdY @891g 328 K198 6a 2oyald aF
ARae |

29) According to the UGC, which of the following is NOT a major issue in higher education?

A) Civilization of students

B) Financing and management
C) Reorientation of programmes
D) The assessment of institutions

29) 974 2qQaI, TR FIQ 6ARE AP AT 6AGER IP JEIS YA Q6% ?

A) 2192191 2IPIQ J8S!
B) 2ifie 6 aQ9Ieal

C) QIdigna graig@
D) a*gig@aa gauies
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30) A teacher motivates the students to focus on facts and allows them to do careful analysis and
thinking. Which of the following skills is the teacher promoting?

A) Discussion

B) Creative thinking

C) Critical thinking

D) Memorisation

30) @64 2I0e RASTIRT 24 UK UR 699 AR FRY TUS I (ARG KR AP0 F6gAE I Fel Aty AQYMS
28| 2SR FRde 0adgee FrIQ X6 6g/1CT6 9988 ?

A) ZIERISRI

B) 9eedia Selial

C) 912qQd Saal

D) f6Radal
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) &,:4,9,68,8 —9geq & 94T gRIarg?

A) a1d

B) 23

C) 2a9a

D) 2isq19Q1e

32) @500 2e40a 9909 96T 91996 §a0'Q I8 |

A) 98I9
B) ¢sed
C) gae!

D) aieee

33) F6QIB FRIQ 6896 1@ F68FY AQ ?

A) ag
B) cailag
C) gqaan
D) 6<

34) ‘2n’ 900 Sodeideqrie 400 qig |
A) Gard

B) #ag

C) e8gi®

D) 22

35) ‘QIOe’ 9e0 29d 600 62RE?
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A) Qia+@
B) a+a@
C) q+ae
D) Qia+ai@

36) ‘@' YR @ IRIQ UGR UQ?

A) @89
B) cinay
C) 6nGe
D) ailge

Download Tech Of World App

37) ‘2918’ 20A9ge 996Q 694 AIg IV FAUARE ?

A) L
B) 2
C)a
D) @

38) ‘zane da0’ 22 Q48 @gRl QEdq Saa |

A) A=IER Q4R
B) @9l @I gl
C) a=iRig

D) ARIc Ase

5 P =
39) ‘Gsqa ciRe’ 9 28 FQad /|

A) 9190 29!

B) 924904 /49!
C) 9912 goIaq
D) /IS 63lieal
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40) Q6894 9@ RITIQ G4, 2R, Al Q1 AGANEG QI ?

A) @
B) aqya:
C) Gu@
D) Qsaay

41) ‘Use’ 4aa AIRIGE 490 QIR |

A) 2l

B) @12

C) 66

D) QIea4ade

42) 62Q AFIA6Q LHIAPR IR JIURQET TS §9?

A) 6egea
B) @i
C) aq
D) g%

43) ‘a86’ 2dca ‘Fa’ goua calcea 900 9aq 9Ig |

A) ence
B) sic
C) aaigel
D) @5l

44) Q8 6919Q FETAES ESIQI QA 626M — MOIEQ FETAES & YRIQ FU?

A) aaidal
B) aiaqida
C) yaa

D) 605
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45) ‘yor sea TS 900 QUL |

A) 28999
B) e@laIe

C) o
D) 99¢
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Section 6 - Paperll-Mathematics

No. of Questions: 15

48) If 5 less than twice a number is 13, then what is the number?

A) 7
B) 8
C)9
D) 10

46) Q@ el QRYAIQ @F1 B8 6298 €M, 6669 T EREG ?

A) 7
B) 8
C)9
D) 10

47) If the ratio of the areas of 2 circles is 4:2, then what would be the ratio of their radii?
A) 2:1

B) 1:2

C) v2:1

D) 1:42

47) 98 96 960 689TRR 2GS ¥ : 9 62IRAN, 6669 CAFIRT IASR AGAID 6F6E 621 ?
A) 2:1

B) 1:2

C) V2:1

D) 1:2

48) Which of these number can be subtracted from 10,000, so that the remainder can be divisible by
32, 36, 48 and 547

A) 9136
B) 6533
C) 5188
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D) 4178

48) <@ eyl cug 69a 10,000 g Feaia eaiieaide, deiaesa augsad 32, 36, 48 e 54 glal aife coiQaide ?

A) 9136
B) 6533
C) 5188
D) 4178

49) Nikhil lent % 5,000 to Rahul for 3 years and % 2,000 to Rohit for 4 years and received a simple
interest of ¥ 920 altogether. What is the rate of interest?

A) 3.5%
B) 4.0%
C)4.2%
D) 5.0%

49) 5&q agag N ed ae T 5,000 e caifeg 4 «d aia T 2,000 songsq e aserie T 920 aar g AIRgsR | 6669 986R
QR 21Q 6966 ?

A) 3.5%
B) 4.0%
C)4.2%
D) 5.0%

50) What is the solution of the system of linear equations x + 2y = 4 and 3x + 2y = 07

A)x=-2andy=3
B)x=-2andy=-3
C)x=3andy=2
D)x=3andy=-2

50) casice aneesa daa X + 2y = 4w 3x + 2y = 0 agiie 6960 629 ?
A)x=-29e°y=3

B)x=-249@"y=-3

C)x=349e°y=2
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D)x=349e°y=-2

51) A circle is inscribed in a triangle AABC. If AB = 4 cm, BC = 5 cm and AC = 3 cm, then what is
the area of the inscribed circle?

A) T sq. cm

B) /2 sq. cm

C) /4 sq. cm

D) /6 sg. cm

51) 1@ 90 @ 899 AABC sa 2efdic caiag | ad AB = 4 caf, BC = 5 ¢af ve* AC = 3 ¢af, 6059 227de 909 68007
6R60 62 7

A) T od 6ad

B) 11/2 ¢ saf
C) /4 o4 eaf
D) /6 <¢ saf

52) A number when divided by 16, 18 and 20 leaves a remainder 6 in each case, but is completely
divisible by 7. Which is the least such number?

A) 3256
B) 4326
C) 4888
D) 5046

52) sq1Ea erail 6as0sa6e 16, 18 wer 20 qlou 399 24, g6oia 69964 @Ia6as B afad, @g 12l 7 Qial g4 da1ee 291 6220
QARG T QT ?

A) 3256
B) 4326
C) 4888
D) 5046

53) A computer which is purchased at ¥ 15,000 is sold at ¥ 10,000. What is the percentage of loss
incurred?

A) 33.33%
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B) 38.75%
C) 41.00%
D) 42.45%

53) ¥ 15,000 sa daiaieel 9a @tyea T 10,000 sa §8 2491 6069 FOQ 997G 6966 2IRR ?

A) 33.33%
B) 38.75%
C) 41.00%
D) 42.45%

54) What is the compound ratio of 5:6, 7:8 and 15:167

A) 275:256
B) 175:250
C) 175:256
D) 175:265

54) 5: 6, 7: 8 9e* 15:16 a 6Ad@ agaIe 6260 ?

A) 275:256
B) 175:250
C) 175:256
D) 175:265

55) Which of the following is an infinite set?

A) Set of divisors of 12

B) Set of prime numbers between 1 and 100
C) Set of real numbers between 1 and 2

D) Set of prime divisors of 24

55) 9fde aIQ 6998 6298 99 QIR 646 ?

A) 12 a daieas cae
B) 1 @ 100 ciea 6816@ el ¢

C) 1 g 2 crisa QIR raugdaa 626
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D) 24 a g Gaieeqleicesa 626

56) Three of the following four are perfect squares. Which is the odd one among the following: 2,401,
3,969, 6,889 and 7,202 ?

A) 2,401

B) 3,969

C) 6,889

D) 7,202

56) Sqnge Q6aIF aug G6a1E 6208 Trgd ad | AgRge Auq 6RRd ca4a §g: 2,401, 3,969, 6,889 e 7,202 7

A) 2,401
B) 3,969
C) 6,889
D) 7,202

57) What is the maximum possible area of the triangle that can be inscribed in a semicircle of area
81?

A) 8 sq.cm
B) 9sg.cm
C) 10 sq. cm
D) 16 sq. cm

57) 81 cagus 399 19 UEQOIRIR 68Q6A AVITR 6066 6RETR 98 GRF IR AXUAIRAIGS ?

A) 8 a4 a8
B) 9 «d sad
C) 10 o4 6ad
D) 16 a¢ sad

58) Cost of 3 chairs is same as the cost of 2 tables which is same as the cost of a TV stand. If the
cost of TV stand is 18,000, then what is the cost of 4 chairs and 3 tables?

A) 36,000
B) Z 44,000
C) ¥ 51,000
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D) % 54,000

58) 3 § soniaa gl 28 609na gy 286 adie aIel 58 aga gy a@e aaie | 9@ &8 aige gay T 18,000 24, 6069 4 § coaia
N 36 66909 Y 6@6S 629 ?

A) ¥ 36,000
B) ¥ 44,000
C) 251,000
D) X 54,000

59) A= {x | x is a positive multiple of 3 less than 100} and B= {x | x is a prime number less than 20}.
Then n(A) + n(B) and n (A N B) respectively are

A) 41 and 1
B) 42 and 1
C)41and 2
D) 42 and 2

59) A= {x | X 62a@ 9= g9 gdicw ai@l 100q 3 e} YQ° B= {X | x c20d e cAide ey a2l 20Q aq} 1 eese n(A) +
n(B) <@° n (A N B) gaigsa sead

A) 41 e 1
B) 42 wer 1

C)419e 2
D) 42 wer 2

60) How many positive integers below 1,000 are both perfect squares as well as perfect cubes?
A0

B) 1

C)2

D)3

60) 1,000 q @61 626016 g8 Q4 el @ea Tgd 9d 9 Y4 QYL AT ?

A)O
B) 1
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C)2
D)3

Section 7 - Paperll-Social Science

No. of Questions: 15

61) The warmest layer of the Earth's atmosphere is

A) Mesosphere
B) Troposphere
C) Stratosphere
D) Thermosphere

61) 92910 YL AF0IQ AFY IR 6208

A) sasadAQ
B) g60IdaQ
C) 4/6513aQ
D) 21661132

62) Which layer of the Earth's atmosphere is suitable for placing Satellites?

A) Mesosphere
B) Stratosphere
C) Exosphere

D) Troposphere

62) GAQIA AYILRR 696 3R ACTAIRG YR AR AAYS?

A) 696QRAQ
B) ai60139Q
C) 169Q9Q
D) geaida

63) Which article states 'that there shall be a provision for free and compulsory education for
children'?

A) Art 44
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B) Art 45
C) Art 42
D) Art 43

63) 629 2g9e16a QLIRS 60 ‘TAIRIGST IR CIGEI e QRISIYAR VR QY Q@S ?

A) 29901 8%
B) 2299158
C) 29901 %9
D) 2ge1 ¥

64) Who wrote Harshacharita, a biography of Indian emperor Harshavardhana?

A) Sudraba

B) Gunadhva

C) Banabhatta
D) Dantidurga

64) AUQGIG AFIC TR F19QT UG @4 6RYRT?

A) QQIe

B) gairial
C) Q999
D) Qi@gql

65) The El Nino climate cycle starts from which of the following options?

A) South American Coast
B) Mediterranean Coast
C) Chinese Coast

D) African Coast

65) fgfige Saagea auq saaola El G6ql 97919 01 a0 997

A) @86 2NN QUG
B) 9AuQIGRI0 20gR
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C) dIa%l aoge
D) 2gS 2999

66) The giant rocky slabs that make up the Earth's crust are known as

A) Tectonic Plates
B) Faults

C) Avalanche

D) Batholith

66) 921 PR I} *QR TR AR YYD FEIGE

A) 656QI0R 699
B) oag

C) gaiqgaie

D) Qieanme

67) In 1989, a Committee that recommended constitutional recognition for local government bodies
was

A) A K Mehta Committee

B) Lyndongh Committee

C) Shah Committee

D) PK Thungon Committee

67) ecre 6q, @ ofi Qo ge1e deie Y AR A9 dial AR adem

A) 6@ 6716261 @76
B) @egiar afid

C) @Il «4i@

D) d 6@ 2are @fi¢

68) Who is the ex-offico Chairman of the Rajya Sabha?

A) Prime Minister
B) Council of Ministers
C) President
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D) Vice President

68) aIRiARIa gqe 2U8 &4

A) Qe
B) fal a8g%

C) Qugas
D) @aaigad

69) Around which of the following dates, India experiences the shortest day of the year and the
longest night?

A) 23rd March

B) 21st June

C) 22nd December

D) 23rd September

69) GoRge 624 CIAHER ARG 966 ATOIQ 6816 TR IS* 96 QIT ALRS 62IRAIN ?

A) 90 Q19
B) 9¢ @@
C) 99 @sana
D) 99 6269A4

70) General Dyer was shot dead by who among the following revolutionaries?

A) V'V S lyer

B) Soham Singh
C) Hasrat Mohani
D) Udham Singh

70) S9fge SgeInes U &N 6a6RAIn GlHRg IR @8 264 a&dem ?

A) § @2 2ae
B) caieq @°
C) 22 cIRIB
D) eue &e
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71) A small blade of flint or similar stone, which when hafted into a wooden handle would make a
tool, especially found in the Mesolithic Period. This tool was known as

A) Nanolith
B) Microlith
C) Macrolith
D) Megalith

71) G& @9 AAIS AAAR IR 68IF 69Q, 6UELEIER IR R0 ICARNER UL FAUAN Y@ ARIF FT2ARX K],
Q6ATGS 676QAMIR ALUIAER | 9T QARRET SIS

A) QleQIme]
B) cliqsqime|
C) qusqime|
D) sqici@el

72) The outbreak of Minamata disease in Japan in 1953-60 was due to

A) mercury contaminated fish
B) Bird flu

C) zinc contaminated chicken
D) lead contaminated chicken

72) e ¢gn-20 adeiea FIUIR6R GRS 6T QIR 12| gRl

A) Ciee 9986 dla
B) @€ ¢

C) &« 9q8c Geae
D) Q1al gqdic d6aq

73) What does the terminology Lame-Duck session refer to?

A) The last session of the existing Lok Sabha

B) MPs who do not get re-elected

C) Rajya Sabha has only less than 20 MPs in any session
D) Lok Sabha has less than 50 MPs in any session
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73) 6R91-0% ANCIER 99 @' QI ?

A) SIS 89l 6RIRANIQ 68T UUSIER

B) arae 6URFIER YRSIQ FIGE 228 RIF

C) 64 6R16Q ZUEIFFER ARIANIER FIIR 9 0 Q @ APAR 2T
D) &4 6RI6Q ZUYEITRER EAFANER FIIQ 80 Q KEI APARQ QLS

74) The river in India that crosses the Tropic of Cancer twice is

A) Narmada
B) Godavari
C) Mahi

D) Ganga

74) €106a 98 991 12l 902Q K96 FI8 UGS a&ad

A) adal
B) sal@iqa
C) @

D) Si&n

75) Which act was described by Nehru as 'Charter of Slavery'?

A) Govt.of India Act of 1919
B) Govt.of India Act of 1935
C) Regulating Act 1773

D) Pitt's India Act

75) 6562Q 629 287997 ‘@GR 2IRQAQ’ QIR 4R FRLER ?

A) 2CRC Q BIGE ARG AAURAA
B) (M8 Q FIGE AR AFAC
C) 2dqe Faa e99oM

D) 9¢ adal 21
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following is the nature of the solution after electrolysis of CuSO4 takes place
using Pt electrodes?

A) Acidic due to formation of H2SO4
B) Acidic due to formation of H2S03

C) Basic due to formation of Cu(OH)2
D) Neutral

76) Pt asqsqie 2o @8 CuSO4 a asasqiniedd asa FORYe FrIQ 69618 AFINS 998 ?

A) H2S04 606 629 e

B) H2S03 ¢ sog Q&R

C) Cu(OH)2610% 62q 62d)
D) fesas

77) Which of the following compounds can sublime at room temperature?

A) Ammonium Chloride
B) Camphor

C) Sodium Chloride

D) Sugar

77) Geqie cAIER crIQ 6966 611081 SITFIRIEE AGS 62ARTISH ?

A) AT 6qIQRS
B) aYlsHI

C) 6Q&a 6QIURL
D) ¢4

78) Motion is defined as

A) change in mass of an object over time
B) change in time and distance
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C) change in position of an object over time
D) change in speed over time

78) 98 Q ARV 62

A) 6015 9gQ IR AFIE G651 TR 629
B) an@ 1e° gaqe adeas 624l

C) ana 9661 9ga 29AGT6Q ARIRG 629!
D) ana G661 9ZQ 606160 IRTRR 629!

79) Which one of the following is associated with Lysome that have the ability to break down
macromolecules such as nucleic acids, proteins, and polysaccharides?

A) parasitic activity

B) presence of food vacuole

C) catalytic activity

D) hydrolytic activity

79) GoQde fRIQ 6a00 AIRERIA Afe #E0, AR AI§e 1de, 60IFR Y& ORAIRIINe U8 AIERISAINIGR TSR TCel AFE ?

A) cegtel =Tl lalally
B) s019@ §94g10a 2lale(a)
C) 2q9Ien @idiaqia
D) 21a6iRIa8a QISR

80) Colchicum autumnale is a colchicine yielding monocot plant, the type of stem modification found
is

A) Runner
B) Corm
C) Bulb

D) Tuber

80) ca1Rdaa 2erficn 6208 97 6RIRANIR AUOR FQASI 6FISRINE a8@, figael 6af Jfedra Jaie 6208

A) 899
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B) @
C) *%
D) €499

81) Which among the following intermediate is formed in the reaction when phenol is treated with
CHCls in presence of NaOH?

A) CHCIy
B) CClz
C) -cCl
D) CH{OH)z

81) NaOH a aoddsa CHCI3 age 6a6qin i92ia @aidalseer 98@0i6a FeRge fuiQ 69w sreef@das § 98 997

A) CHCly
B) CCl
C) :cCl;
D) CH(OH)z

82) What will be the change in density of the gas if the pressure increases four fold at constant mass
and temperature?

A) Density decreases four fold

B) Density increases two fold

C) Density increases four fold

D) Density decreases two fold

82) qeicie e e QIOAIgIsa A8 G0 a6 g4 @AaIN 606Q NIAa ARgEa @'8 afede 629 ?

A) 9961 6@ ga @daId
B) 9°6I 998 9F 96a
C) 990! A& g8 & @sa
D) 9961 9@ 4 adard

83) The work done on a object is independent of

A) force applied
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B) displacement

C) angle between force and displacement
D) intial velocity of the object

83) @ Qg QU6 Il HILIOIQ GII1G 26T, Q1L 6L9ml

A) geRIGIQe OF

B) Gaiag

C) o@ 9Q° AR F1IY 616
D) aga g1ede aasae

84) Tissue plasminogen activator is

A) a vitamin
B) protein

C) an activator
D) lipid

84) §g qefcacee 2PN 6208

A) <@ alalals
B) cgIfe

C) 4@ agoqie
D) ade

85) Select the INCORRECT statements from the following:

A) The cisternae of Golgi complex are stacked together and are found as golgi stacks
B) The Golgi stacks has two faces a cis face and trans face

C) The Golgi complex consists of ribosomes and it helps in protein synthesis
D) The two faces are closely connected to a network of interconnected tubules

85) fadige SQQGIGER g 6QRG COR 965 ool 00 90F :

A) 69191 642 R4 99E AR 621Q 97 VR VA FRaN
B) saI®t UYL Qa6 g 1@ A 696261 I Q1Y 60624l
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C) 69191 Q6496Q QAUREIEEIA QD2 95° 421 69159 degdasa AILITY FER
D) 22 60626l 962Q QATe TYR TYRRQ IR 6RCEIF ATC AFT AFEQ TYD

86) An inflorescence with involucre of bracts forming cup like structure is

A) Catkin

B) Cyathium
C) Spikelet

D) Verticillaster

86) QIR A2G 2GR 9@ JIYR 9 08 §0e 99uel raeq) Z6S

A) SUeee
B) Quiae

C) an6a6ns
D) e6dniaa

87) What will be the formula of a solid compound if its unit cell is found to occupy with P ions at the
corners and Q ions are present at four of the face centres?

A) PQ

B) P2Q

C) PQ2

D) P2Qs

87) = 20e sdifea odal @’4 cee 93 Y2Ia 956 san salgsa P zige ade ada e 66 sagsa Q aae agde an ?

A) PQ

B) P2Q
C) PQ2
D) P2Qs

88) A street side lamp post consumes 2200J of electricity energy in 15s. Calculate its power?

A) 1105 W
B) 146.6 W
C)225.3W
D) 250 W

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Join Us-

88) QIY Q% IR A1 Y€ 9F 155 62 2200 IS 93 IS @6Q | I 948G AR5 9 |

A) 1105W

B) 146.6 W
C)225.3 W
D) 250 W

89) Nyctalopia can occur due to the deficiency of
A) Vitamin C

B) Vitamin K

C) Vitamin A

D) Vitamin B2

89) 2ia RIS FIRdQ FIRRIsAIde 2RI

A) aside C
B) @eide K
C) aeidie A
D) @eidie B2

90) The ribosome type present in eukaryotic cell is

A) 80S
B) 70S
C) 55S
D) 30S

90) QaRIGEER 6RITER 2 ARECHIN AR 6208

A) 80S
B) 70S

C) 558
D) 30S
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Answer Key
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